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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before attempting it.

® 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i) There are total 26 questions in five sections in the question paper. All questions
are compulsory.

(ii) Section A contains questions number 1 to 5, Very Short Answer type questions of
one mark each.

(iii)  Section B contains questions number 6 to 10, Short Answer type-I questions of two
marks each.

(iv)  Section C contains questions number 11 to 22, Short Answer type-Il questions of
three marks each.

(v) Section D contains question number 23, Value Based Question of four marks.

(vi)  Section E contains questions number 24 to 26, Long Answer type questions of five
marks each.
(vii)  There is no overall choice in the question paper, however, an internal choice is

provided in one question of two marks, one question of three marks and all three
questions of five marks. An examinee is to attempt any one question out of the two
given in the question paper with the same question number.

gug - &

SECTION - A

1. AR SR 7 TR 39 § M.T.P. & oI STHaeiet 9% 91 ol &1 € | RT Sl g7 9eh!
it ST | 1

Our government has intentionally imposed strict conditions for M.T.P. in our country.

Justify giving a reason.

2. e T % SR U el S OGSt b At g g 2 1

State the fate of a pair of autosomes during gamete formation.

3. IO % Wi SROT % (Ggid & 3TAR (ohdl Safte Sig sl 9 JfHe gl & 2 1

What role does an individual organism play as per Darwin’s theory of natural

selection ?
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4.  TFEEH SR SHHAT S GHNET B % g T faty o e i | 1

Suggest a method to ensure an anamnestic response in humans.

5. 9 Y Tohel 1 Bl § 2 1
What is biopiracy ?
oL
SECTION - B
6. U U H Uk URUS YUI-HIY H G HIHT BT €, AR ek IS B & | HAeT NG
& FRT GHEATHT LT | 2

A mature embryo-sac in a flowering plant may possess 7-cells, but 8-nuclei. Explain

with the help of a diagram only.

7. ARG @ 6 G BT | 2
AT
TfeRaa sfa o forehrTa Tew Sl == Hi : 2
() TIR
(b) e
(c) B efafor
(d) e\ Ry

Describe the structure of a nucleosome.
OR
Mention the evolutionary significance of the following organisms :
(a) Shrews
(b) Lobefins

(c) Homo habilis

(d) Homo erectus
57/1/1 3 [P.T.O.
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8. [ wa ® ffaiad Stal 3 HEer- 3t agetdl § FSTach wel i USTER gunifad & it

T

(a) TARIIE

(b) i 3R T T

() =HI

d) e

fohamT ol woelt @i fafaedr 1 gema i ¢ 3 Wal § I difeh HiSET 9o 1 &6 &
Tk 3 USTER o SEe & 9o | 2

In an agricultural field there is a prevalence of the following organisms and crop
diseases which are affecting the crop yield badly :

(a)  White rust

(b) Leaf and stripe rust

(c) Black rot

(d) Jassids

Recommend the varieties of crops the farmers should grow to get rid of the existing

problem and thus improve the crop yield.

9. [d ©@d H AT M T ST B GHEY R T 39 Td 6! UgER 6T TR 98l &l
SlLeu i 2

How does the application of the fungal genus, Glomus, to the agricultural farm

increase the farm output ?

10. 3T ToTTeh o Tohdl ATel H ¢ 9AM TR SaTel Tepe feam 3 § |
(a) o€ WEHT Thg HRUT ST g3 & 3T STt bl T[UTerT UX SHehT ST TTd T2 2
(b) T YRS I AT % U T G ST | 2
Plenty of algal bloom is observed in a pond in your locality.

(a)  Write what has caused this bloom and how does it affect the quality of water.

(b) Suggest a preventive measure.
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SECTION - C

11. (a) 3 SHoH-T%F % I THaud 3R fgau tiaramt dig 59 di9 st 9 &l
ToRA € 3! G SR |
(b) T el o feRE &1 I WAt (Propagules) 3t G SIS @7 ST 90 ®ISTT | 3
(a) List the three stages the annuals and biennial angiosperms have to pass through
during their life cycle.
(b) List and describe any two vegetative propagules in flowering plants.
12.  TFE ST AT i TG ATHThT IS % 3¢ TART | 3

Draw a labelled diagrammatic sectional view of a human seminiferous tubule.

13,  Stoed Sita o IR Udl @ o U Fasid forg] § ueh 2197 orgd iy € | 39 a=d H 9
1Y T 7T TAETOT Tehe &1 bt TTaT & 2 3

During a medical investigation, an infant was found to possess an extra

chromosome 21. Describe the symptoms the child is likely to develop later in the life.

14. 8 36T g1 & 3R 3 A o 31Teeh STt T {6 3 qgar ot hicH & T | 39
MYk TSI T AT TAT TAT IYHT TV Tt PTG Teraal § I 37 RIAIRT Bl
T T | | 3

A number of passengers were severely burnt beyond recognition during a train

accident. Name and describe a modern technique that can help hand over the dead to

their relatives.

57/1/11
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15. p2+2pq+q?=12S aE-er & a0 % LR W 9 SSH0TI THHI0T 6! AT DT | 3

p% + 2 pq + g* = 1. Explain this algebraic equation on the basis of Hardy Weinberg’s

principle.

16. (a) TR-SR YA i 59 AT P E9Fhdr Sl & U I B 3 FA qAarg oA
TeATe <71 2

(b) TME TN TH FeAE T T Fal T, a8 W gRT U A7 9 Wed ex bl 9o €
ST HROT SHF IR 1 UG o T & Wbl & | ol Ueh FioHieg ARG i
HeradT | ST HifSTy foh STehT Ui o 69 Teh gHiferd & 3T 7 & | 3

(a) What precaution(s) would you recommend to a patient requiring repeated blood

transfusion ?

(b) If the advise is not followed by the patient, there is an apprehension that the
patient might contract a disease that would destroy the immune system of his/her
body. Explain with the help of schematic diagram only how the immune system

would get affected and destroyed.

17. (a) 39T EHE R e 2
(b) TR & ST % IR “TROT” % Hewdl Sl AR DT | 3
(a) What is inbreeding depression ?

(b) Explain the importance of “selection” during inbreeding in cattle

57111 6
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18.

19.

20.

21.

57/1/11

Afed HA-STIR | FeATrd (30Teh) T Tishiaa Tt o Wb FeTad Hid &, d0 ity |

Describe how do ‘flocs’ and ‘activated sludge’ help in Sewage Treatment.

HF-UTEATeh | (eTeiad st qiEehrei st e Hig
(a) wiqeee deigfeemst
(b) SioI-To=eRuT T

(c) pBR322 H aRuTcHs faesh

Explain the role(s) of the following in Biotechnology :

(a) Restriction endonuclease

(b)  Gel — electrophoresis

(c) Selectable markers in pBR322.

Ta-STA-3cuTg &t UTed hit o oTw ot ST aret =Rott 6 gemd ST |

3

Write the steps you would suggest to be undertaken to obtain a foreign-gene-product.

Bt UM & Ui} T WIUT-GIN0T i ol STeIe-shie T8 7Y S1d & 2 GHSTR Sarey foh THr

FAEAE |

Why do lepidoplerans die when they feed on Bt cotton plant ? Explain how does it

happen.
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22, TR WIRIUT W GeheTT=T Teiisil i 785 Aol Tehell € | 39 e i Jfee I | 3
Jreran
tar-fafererar “g1f=ai” o fohel T FHRUN & AT TATT TAT I7HT FUH HITTT | 3

‘in-situ’ conservation can help endangered/threatened species. Justify the statement.
OR

Name and describe any three causes of biodiversity losses.

Q|UE - q
SECTION -D
23. WYUT YRA B SHAT SO URA F T 6T BT G Bl TS g TOERT B B Tgd AH
fafaa € | 39 feafa T T 819 31U SoTeh bl ETaRl hedTol S8 3 “THATEY, STelgy Ja
STTEShAT ISR 1 STASH (AT | Sie-fom & formel e & T §e1 3 398 90 o &
o et frar & 1
(a) THAM S TSTET 3 TAT STAM i (TEcTIEd B F 3% qeh i e [T TR it 2
(TS T HROT SITTT) |
(b) VAE-AE, U® FNARI & [T TH-Uh, Hl FeFdl ¥, FNARI & qvar g+ el
UREEATeT i G Hi == HIT | 4

Public all over India is very much concerned about the deteriorating air quality in large
parts of North India. Alarmed by this situation the Resident’s Welfare Association of
your locality organized an awareness programme entitled “Bury not burn”. They

invited you, being a biology student to participate.

(@) How would you justify your arguments that promote burying and discourage

burning ? (Give two reasons)

(b)  With the help of flow charts, one for each practice depict the chain of events that

follow.
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SECTION - E

24, Tr=fetaa e o 9feu X S T 7T 99 % ST SIT

57/1/11

“3TES o Fel H 200 SHeer S &l ¢ 17

(a) St s T e € 2

(b) 3THET & 200 ST ST 3~ HH & [
(i) TR 0T 31X (ii) IR I Fot G eAf@u |

(c) TSI U9 ¥ Slig-e™ sl & Scaed 9 9 WRTULUTE giEeTeT # 390 % e ueh
TaTE-are ST | 1+1+3)=5

rerat
(a) TEC AfgeT B FHETEd M S 3% Javl % 3THA | fafan |

(b)

T Hd 94T 3% §RT GO~ {ohT 7T 1 2T :

hcG, LH, FSH, Relaxin 1+4)=5

Read the following statement and answer the questions that follow :

“A guava fruit has 200 viable seeds.”

(a)

(b)

(©

What are viable seeds ?

Write the total number of :

(i) Pollen grains (ii) Gamates

in producing 200 viable guava seeds.

Prepare a flow-chart to depict the post-pollination events leading to viable-seed

production in a flowering plant.

OR
9 [P.T.O.
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(a) Arrange the following hormones in sequence of their secretion in a pregnant

woman.
(b) Mention their source and the function they perform :

hcG ; LH ; FSH ; Relaxin

25. UH TS Aoy HEH i H AT IR o FEH” H 94l DT q€ IH A
HIT | 5

(a) oI W ST H Uget X 18 § IeT9-Uh=Iehi0l & IR fhT 7T &30l F Uihiash
=T 3R b o foaR i gfte fohg v fiverett € 2

(b) ST URESAT I T HIGT S, Whideh x0T & AR, S i (dferr) gr
AT TEFTT el & | @+1)=5

State and explain the “law of independent assortment” in a typical Mendelian dihybrid

Cross.
OR

(@) How do the observations made during moth collection in pre- and post-

industrialized era in England support evolution by Natural Selection ?

(b) Explain the phenomenon that is well represented by Darwin’s finches other than

natural selection.

57111 10
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26. (a) g I RS F1 BT Y 2

(b) A U % 3MI-TREE & T EU% TBRT & 11 TR 3T Uedish i ceiforehar
W G TR | 1+4)=5

3N, TAERONT T WSATRE Sl ol Fansti & a9 IRER & forw gaufera e
IR YTt b JfgehT st =T HioTT | 5

(a) What is an age-pyramid ?

(b) Name three representative kinds of age-pyramids for human population and list

the characteristics for each one of them.
OR

Discuss the role of healthy ecosystem services as a pre-requisite for a wide range of

economic, environmental and aesthetic goods and services.
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